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Online Appendix



A Example of choice questions used in the ex-
periment

Figure A.1 shows an example of the display of the money questions. Figure A.2

shows the original version of the choice question displayed in Figure 1 in the
main text.

G1 - Which do you prefer?

Option A Option B

A 20% increase in your A 20% increase in your

purchasing power between age purchasing power between age
40 and 50 50 and 60

To help you make your choice, the options are displayed visually in the graph below

Figure A.1: Example of a choice question for money



K1- Que préférez-vous ?

Option A Option B
Etre libéré de votre mal de dos

Etre libéré de votre mal de dos
entre 50 et 60 ANS

entre 40 et 50 ANS

Pour vous aider a faire votre choix, les propositions vous sont présentées
visuellement sur ce graphique.

Figure A.2: Example of the original choice question for health, in French



B Rounding, iterations and indifferences

In this Section, we use the data from a selected participant to illustrate how we
dealt with rounding. We then provide some descriptive statistics.

B.1 Data from a selected participant

Table B.1 shows the choices faced by subject ID1802401 and her/his answers
in the elicitation of ¢ 5, for monetary outcomes. The value determined by three
indifferences was equal to 42. In the analysis reported in the main text, the
value was determined after four iterations and was equal to 43.

step task choice

step 1 3g4g)8 vs. Qg ss)8  3s.48)
step 2 3g 4318 VS. a3 ss)f 38,438
step 3 aga1)B VS, 1588  Qa1,580
step 4 a[3g 4218 vS. Q2588 2588

Table B.1: Elicitation of ¢ 5 for subject 1D1802401

Table B.2 shows the choices faced by subject ID1802401 and her/his answers
in the elicitation of ¢ 75. The value determined by three indifferences was equal
to 44. In the analysis conducted in the main text, the value was determined
after four iterations and was equal to 45.

step task choice

step 1 aus 518 vs. ap1ss)8 ussyf
step 2 auza7B vs. aurss)B Qusanf
step 3 Qa5 VS, Qus sl uzas)f
step 4 34418 V8. apuas8)B aass)B

Table B.2: Elicitation of ¢ 75 for subject ID1802401

Table B.3 shows the choices faced by subject ID1802401 and her/his answers
for the elicitation of ¢ g75. The value determined by three indifferences was equal
to 46 and the value determined by four indifferences was equal to 46.5.



step task choice

step 1 aus 598 vs. 25818 Qass2)08
step 2 ay5.49)8 VS. Q9588 a5,49)8
step 3 Qus 7B VS, Qurss)B Qasanf
step 4 54618 VS 6588 6,588

Table B.3: Elicitation of ¢ g75 for subject ID1802401

B.2 Descriptive statistics

Tables B.4 and B.5 show the elicited values for health and for money when only
three indifferences were used.

t.125  t.25 t.5 t.75  £.875

Median  2.00 4.00 9.00 14.00 16.50
Q1 0.00 0.00 0.00 3.00 4.75

Q3 450 8.00 12.00 17.00 18.50
Mean 4.75 6.06 840 11.99 13.36
Std  6.65 6.58 7.02 6.37 6.61

Table B.4: Summary of elicited values for health after three iterations

t.125  t.25 t.5 t.75  t.875

Median 1.50 4.00 7.00 12.00 15.50
Q1 050 1.00 2.00 500 7.25

Q3 250 5.00 9.00 15.00 17.50
Mean 3.31 4.70 7.18 11.10 12.89
Std 521 524 590 568 @ 6.15

Table B.5: Summary of elicited values for money after three iterations



Table B.6 shows the median and interquartile range for the areas for under
the cumulative weighting functions, for both health and money. Kendall’s tau
was equal to 0.21.

Health Money

Median 0.54 0.58
Q1 0.41 0.51

Q3 0.88 0.80

Table B.6: Median areas under the cumulative weighting functions

Table B.7 shows the classification of subjects according to the value of the
area under the cumulative weighting function.

concave linear convex
concave 258 0 51
convex 122 1 63

Table B.7: Classification of subjects based on the shape of their cumulative
weighting functions

Table B.8 shows the estimation results for constant, proportional, power,
dual exponential and periodic discounting based on the median data.

constant proportional power dual exponential periodic
Health 0.03 0.20 0.10 0.21 0.03
Money 0.06 0.10 0.41 0.11 0.36

Table B.8: Estimation results for the three discounting models, based on the
median data. NLS routine was used for proportional discounting in the health
domain due to non convergence of the residual sum of square minimization
algorithm



C Continuous approximation of cumulative weights

C.1 Measurements from the direct method

The sequence of elicited values (t125,%.25,t.5,¢.75,t.875) corresponds to a se-
quence of five (normalized) utilities C' of life duration:

[ C(t.125) = 1/8,

o C(tas)=1/4,

o C(ts)=1/2,

o C(trs) =3/4,
(

o ( t,875) = 7/8

To measure discounting, we used the relation between the utility of life duration
C and the time weights for a constant outcome x. For a given value ¢;, the direct
method implies:

i
Ct;) = dy.
t=0

By specifying a discount function d; and using a continuous approximation,
it is possible to elicit the underlying discounting parameter(s). Normalization
implies C'(0) = 0 and C(T) = 1.

A continuous version of the method implies:

tj
;) = /t dudt.

=0

The definition of the cumulative weight C(t;) implies :
C(t;) — C(tr)-

is the average of the derivative C’ over the interval [tx,t;].

C.2 Constant discounting

The best-known case of d; is constant discounting: time weights are equal to
e~% where § is the discount rate. Therefore, using a continuous approximation:

C(t;) = c/otj e ot (1)

with ¢ a normalization constant.
The primitive of e=°" is —4e~%". Then:

t; 1 tj
c/ e ®tdt = ¢ {—e‘ét] ,
0 g 0



This gives C(0) = 0 and C(T) = £ (1 —e°T). Defining the normalization
constant such that C(T) = 1:

)

T e

one gets:
1 _ ef&j

C.3 Proportional discounting

In Mazur’s proportional discounting model, the time weights are equal to ﬁ,

where k is the parameter governing hyperbolic discounting. Therefore, using a
continuous approximation:

Clty) =c / R, (3)

1+ Kkt
with ¢ a normalization constant.

The primitive of ﬁ is l"(llj”t). Then:

t;
i1
c/ dt =
o l+nrt

[In(1 + Kt)]g

In(1+ kt;) —0,

Tloxlo x|l

In(1+ ktj).

This gives C(0) = 0 and C(T) = £In(1 + xT). Defining the normalization
constant such that C(T') = 1:

1
= Hln(l +&T)’
one gets:
ln(l -+ Iitj)
tj) = ——=. 4
clty) In(1+ kT (4)

C.4 Power discounting

Following Harvey’s power discounting model, time weights are equal to ﬁ

Therefore, using a continuous approximation:

Clt;) = ¢ /0 Yo, (5)



with ¢ a normalization constant. e
The primitive of (1 +¢)~* is % Then:

. [(1 +t)1—ar‘

1—«

b

tj
¢ / (1+¢)“dt
0

0

(4t —1).

l1—«

This gives C(0) = 0 and C(T) = = ((1+T)'~® —1). Defining the normal-

-«

ization constant such that C(T) = 1:

- 11—«
(4T e -1
one gets:
(14t)t -1
C(tj) = ——7. 6
(]) (1+T)17a_1 ()

C.5 Dual exponential discounting
Following Prelec and Rohde (2016), time weights are equal to ae™"*! +be"™* + (.
Therefore, using a continuous approximation:

tj
C(tj) = c/ ae”"" 4 be" + (dt. (7)
0

With ¢ a normalization constant.
The primitive of e~ is —2e~"* and the primitive of e"* is 2e™. Then:

w(o,d] = c.a./ e "tdt —|—c.b./ e + cdt —|—c.(/ dt. (8)
0 0 0

[7%6—7%]3‘7' [le”];j [t](f]j

The equation can be rewritten:

Clty) = ¢ <a. {_16—"} T [ie”} Uy g[ﬂf;‘) . )

r

0 0
a . a b, b
C(tj) :C(—Te t —&—;—l—;e t _7“+Ct]) . (10)
Assuming a = —b = 0.5 and ¢ = 1, one gets:
c et
C(t;) = o (t; —e™ —e ™). (11)
This gives C(0) = 0 and C(T) = . (T — e"" — e7""). Defining the normaliza-

tion constant such that C(T) = 1:

2r

€= T_erT_e—rT’



one gets:
tj _ e’r’tj _ ef'rt]-

Clty) = 7 — =7 (12)

T — erT _ e—rT

C.6 Periodic discounting

Following Prelec and Rohde (2016), time weights are equal to acos(pt)+Ssin(pt)+
~v. We normalize T' to w. Therefore, using a continuous approximation:

ti<m
C(t;) tjc./o acos(pt) + Bsin(pt) + ydt, (13)

ti<m ti<m ty<m
c.v/ dt + c.a/ cos(pt)dt + c.ﬂ/ sin(pt)dt. (14)
0 0 0

With ¢ a normalization constant.
The primitive of sin(pt) is —cos(pt)/p and the primitive of cos(pt) is sin(pt)/p.
Then:

) co . . ) I )
Clt) = erltlf -+ fsin(o0)ly - f[cosw)]ff. (15)
Then, for t; < m:

C(tj) _ C’Ytj + Ca(Sin(ptj)) _ Cﬁ(COS(ptj) — 1) ) (16)
p p

This gives C(0) = 0 and C(T) = eyT + CO‘(SiZ(pT)) - cﬂ(ws(ppT)*l). Defining the
normalization constant such that C(T') = 1:

_ P
‘= oyT + asin(pT) — B(cos(pT) — 1)’

one gets:

\ _ Pt + asin(pt;) — B(cos(pt;) — 1)
cty) = pyT + asin(pT) — B(cos(pT) — 1) (17)
with T normalized to 7. We fix v = a = —f = 0.5, and get:
g . N
Clty) = pt; + sin(pt;) + (cos(pt;) — 1) (18)

pT + sin(pT) + (cos(pT) — 1)
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D Empirical Cumulative Distribution Functions
for Cumulative Weights

Figure D.1 shows the empirical cumulative distribution functions for cumulative
weights t.125, t.25, t_5, t_75 and t.875 for both health and money.

Figure D.1: Empirical Cumulative Distribution Functions for the Elicited Cu-
mulative Weights
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E Instructions and questionnaire

E.1 Experimental instructions (translated from French)

This survey aims to conduct research about the attitudes of individuals with
regard to their quality of life, their health and their perception of subjective
time. This study is conducted by the INPES (the French National Institute
for Prevention and Education on Health) and INSERM (the French National
Institute of Health and Medical Research). During this survey, your anonymity
will be strictly protected, your contact information will be destroyed by the pool
company (BVA /GFKISL) before communicating data to the INPES and IN-
SERM, in accordance with the French law (Commission Nationale Informatique
et Libertés). First, we will begin with a series of socio-demographic questions.

e Are you male or female?

e What is your age?

e What is your main occupation?

e Are you single or living as a couple?

e If you are living as a couple, what is your partner’s main occupation?

We will now ask you a series of questions based on different scenarios. One
scenario will be about health and quality of life. One scenario will be about
your purchasing power. One scenario will be about your diet.

Imagine you suffer from back pain. Back pain corresponds to a mild but
continuous pain. In practice this corresponds to:

e some problems walking about: unable to remain a long time in sitting or
standing position, walking for a long time, unable to carry heavy loads.

e no problems with performing self care activities (e.g. eating, washing or
dressing).

e some problems with performing usual activities (e.g. work, study, house-
work, family or leisure activities).

e mild pain or discomfort.
e not anxious or depressed.

Imagine that you suffer from back pain and that there is a treatment that
allows complete relief. This treatment involves a weekly dose of pills, which
would result in full health. Without the treatment, you will suffer again from
the same above-mentioned back pain. Imagine that you have the possibility to
take this treatment, but only for a given period of time.

We will use the computer to answer a series of questions. The health scenario
is described on a cardboard card to which you can refer as often as you need
during the series of questions.

12



Questions are about your preference between two periods of time when to
take the treatment for complete back pain relief. Imagine that you can be
relieved from back pain between your current age and your age+10 years, or
between your current age+10 years and your current age +20 years. Of these
two periods, in which one do you prefer to be released from back pain? Note
that beyond this period you will still suffer from back pain. You will face a
series of successive questions about your preference between two periods, with
different lengths for the periods. Take your time to answer each of the questions.
There are no right or wrong answers.

To help you express your preference, a strip placed at the bottom of the
screen summarizes these two options. The light gray part corresponds to option
A, whereas the dark gray portion corresponds to option B. If you choose option
A (option B), it means that you will suffer from back pain during the time
period in dark gray (light gray).

At the end of each series of questions, the first question will be repeated. If
you answer differently to this repeated question, we will ask you to express your
preferences again.

We will now ask you another series of questions relating this time to a sce-
nario about purchasing power. Your purchasing power indicates what your
income allows you to buy. Imagine your purchasing power is, for a given period
of time, 20% higher compared to your purchasing power today and that without
changing anything in your current activities (e.g without further work). This
20% increase in your purchasing power only occurs for a period of time. At the
end of that period your purchasing power will return to its normal level.

Now we will use the computer to answer a series of questions. The purchasing
power scenario is described on the following cardboard card to which you can
refer as often as you need during the series of questions.

Questions are about your preference between two periods. Imagine your pur-
chasing power can increase by 20% between your age and your age+10 years, or
between your current age+10 years and your current age+20 years. Of these two
periods, in which one do you prefer to have your purchasing power 20% higher
compared to its current level? Note that beyond this period your purchasing
power will be at the same level as it is now. You will face a series of successive
questions about your preference between two periods, with different lengths for
the periods. Take your time to answer to each of the questions. There are no
right or wrong answers.

To help you express your preference, a strip placed at the bottom of the
screen summarizes these two options. The light gray part corresponds to option
A, whereas the dark gray portion corresponds to option B. If you choose option
A (option B), it means that you have a 20% increase in your purchasing power
during the time period in light gray (dark gray).

At the end of each series of question, the first questions will be repeated. If
you answer differently to this repeated question, we will ask you to express your
preferences again.
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E.2 Additional questions and questionnaire

Subjects also faced a third scenario. This scenario was similar to the above-
mentioned scenarios except that it was based on a choice between the two pe-
riods in which the subject was supposed to follow a low—salt diet allowing him
to stay healthy in the future.

In addition to the scenarios, participants were asked a series of questions
about their health status, their perception of the future, their tobacco and
alcohol consumption, their perceptions of the risks associated with tobacco and
alcohol consumption and their diet. The last series of questions was about their
educational degree (if any), their financial situation and whether they sufferred
from back pain or followed a low-salt diet.
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